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1. SH-&Yl FTA HIZ 8d 3t
o o)Az ds A FTA A2 tid=c= &1 4409811
o APEC A3l A7 = B3 FolA FTAFl &2(98.1D)

o A EFALTE(HEL 2 AbE]olar) (‘02.10)
B0

o =3 239 HlEF2et T3(04.2) B 2E(04.4)
o Z7PHE
=Y X IUIEE ¢ HASaE= / SAHA(HSESHM K LHA)
« HX gl QI : 756,626 ki / 1,7362HH
- OIE - A0 HIAE|IZE(66%), BHRIAI(29%), AF2I(5%) / AH 2o
+ GDP : 2,50599$(20154 IMFZ|&) / 1212 GDP : 13,910$(2015 IMF7|&)
T $EE P, B, ZEF, ZE, B4, Ao S
T2 FUAE MR, ASA AL, ST, dEIIA S
* AREH: QUEAR S
2. oY WARL
O &= A9 sF
(EH9l @ B4BHUSD, %)
72 2011 2012 2013 2014 2015.1~5
TE(SHUE) 2381 (A192%)| 2,469 (3.7)| 2,458 (10.5)|2,083 (A15.2)| 788 (120.0)
T (BLE) | 4858 (15.1)) 4,676 (A3.7)| 4,658(20.4)| 4,810 (3.3)| 2,167 (10.9)
W=D (SZE)| 7,239 (1.0)] 7,145 (A1.3)] 7,116 (A0.4)|6,362 (A10.6) 596 (4.5)

1 2 Y=

(2hel @ 242HJSD)

= 2000 2011 2012 2013 2014
TE 67,425 80,765 76,791 76,291 74,210
= 52,560 66,207 70,566 71,578 65,423
A 119,985 146,972 147,357 147,869 139,633

(XI22 : Global Trade Atlas)
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1 20143 7= #E8 A4S =92 FTA 28 A div] 6.99 37}
(‘0341 YA TFAE FEW) 1,2258E > (‘1449) 8,447XE
o AEA FQ FEEZEL WHEE - I - 7|El F2eh} AAF,

A2 QA Sola HE Y 59 J|E ZAFAE(RYER)
HFAF7, AEAHAFA L FF0] 7 FA
o A7} YU BFAE AA| FEHAA A= HFE

N

(2003) 0.4%° A (2014) 1.0%= Z7}
- (03) 1.29+&/2,991(=7HA]) — (14) 8.4 7H=/8,250
- (03) AA =7tF 549 — (14) A =7+5 514

[ 20149 e 100 S5N4F 2o E5
(ctel - MUSD, %)

=2 TEFS =% H|S
1 EREMAZE 2,114 25
2 == 1,292 15.3
3 2 539 6.4
4 A 479 5.7
5 2= 327 3.9
6 IAHEH 110 1.3
7 ofo[A3 &l 106 1.3
8 ChA DA =M & 103 1.2
9 O 75 = 97 1.1
10 ol atm 94 1.1
ot &5 o7 5,261 62.3
ST E A 8,447 100
(AU2Y @ sTU=FHEE KATI)

o A YA EAN JFAE HFY F=o| B/, 7HEA E
73 QAR A BTG NZE (rzmerel Mol A4 pEN g > A7 G
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